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Geometry Unit 5 Quiz #2 Review Day 9 - Day 13
s
Short Answer o
b B
1. Fill in the formulas below.
- o s 4
Sin A 5}@; S{,\ CO A c
/ = (— .
Law of Sines: a = l') = -
2. 2 2 e
Law of Cosines: a = b +c™— 2 b c CosS A

b= az«¢%*- 2ac ¢os 2
CZ: Ouz—‘— bz —2ab oo Qﬂ

i " [2]
Area of a Triangle (SAS): Prea = . bO, S\r\ A

.........

2. Use the Law of Sines. Find b to the nearest teth.
(-!

S«n (ocfv _ Sin Ci
2| b

b-Sn® = 2.3y’

b (.5a57) = ac.7430

(b= |

ead)

3. Use the Law of Sines. Find b to the nearest tenth.
C
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4. Use the Law of Sines. Find mZC to the nearest tenth.

o

Qa7 Sa C
v 72

72 -Sp?7°z 6984 C
o, 2763 =680 "

m—  "Iq

A

B 7 4 0.9C0% = din &=
i (0.9e8) = &

5. Use the Law of Sines. Find mZC to the nearest tenth. @

) 6.2

60°
B 53 A

5 - ) ) &
6. Use the Law of Cosines. Find b to the nearest tenth. b LI 1 + C —-2o0c CoS E)

C

b oty 8 ~ L0 8 Cos 4y

Lo oo £105 - 825132

2
b z/082S ~ 692532

L™= Bas 39999679

&) ~ \,“Y—g‘?‘?‘?. L7

B

B 85 A
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7. Use the Law of Cosines. Find b to the nearest tenth.

C e————
32 b Q 7 ¢ S

23°
B 54 A

8. Use the Law of Cosines. Find m£A to the nearest tenth of a degree.
; 2. 2 2 B
C CL:b+L—~;ZLa Cos/-\

%= 22%4 305~ 22230 CogA”

Q%Q =Y ) Y005 - 1320 Cog A°

AT = 1D — (320 canA®
~13gyq U3

1095 = —1326 cw A®

-1 322 —-(3 Zd——wv-'
9. Use the Law of Cosines. Find m£A to the nearest tenth of a degree.

0,%’29§ = Cos A°
(‘OS~, (0. %qu’) =

AO

49 71

B R0 A

10. InAJKL,j=9in.,k=5in.,and mZL = 43° Find m2J .

l I:?-M ”1
=5%9% 2.5.9. ccn¥3°
0 -5 et - (5.821%
(0r w752

J=¢.3
@ 05,& [aeu 6//5;;% 'ﬁ)gjj L'T
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S L/S" S‘A :j_o 0.979 3 o=t Sm j—
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— % 9 J°- 798
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G sinee3® = €350
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11. InAXYZ,x=12mm, y=11 mm, and m£Z = 52°. Find mZX .

(1

Find the area of the triangle. Give the answer to the nearest tenth. The drawing may not be to scale.

12.

(o%q C’vnl

9¢cm

13. Find the area of the triangle. Round your answer to the nearest tenth.
B

A 4 m C

14." A gardener needs to cultivate a triangular plot of land. One angle of the garden is 47°, and two sides adjacent
_to the angle are 77 feet and 76 feet. To the nearest tenth, what is the area of the plot of land?
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